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Slnnedlar sildlenun RS E ¥ ¥t =3, == ey [T
X+ 2y -2z =3 satm U (Eenems; gifds,

E 3 14 f1-\l
(EJ 1 2 ]_I eramny  _eeeaflicflatT SEm] suflinsmius mrerTs.
1 =1 2z

1t
1 - - i = ' M W
{.r ﬂ g eilflel's) o7 ~Ger Famasmad s,

2— 20 BHai, 547 whmh —144 2fl Hestuarsst amn
Glesiusdams muléGad mea el
Le=lorwfiunfisT EeAndengmn e s FiFdith®

Loy 38 + 7 sin 381 oos 46 + {gin 462

{cas 28 + ¢ sin A0 58 + i sin 587

Sfds r* 4 1 =0

: ki3 ¥ 5 H 3 B ; 171

5ind =— il == us {44+ R) =22 :
nd = Lnnih s 7 bl sin{4 L A 327 oer e 8
sin 34 -

Tos g = Sin A st iflemifl,

sin 20 sin4d sin g0’ -_%H araer e,

sin” " (2xaT - x%) = 25in"x dmemr [Eimit.

- Li -2t
: [n '
mdEl s o d
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N ¥=3 it oty 1 y=2xe%ogx lm-uf.m. - —H% &,
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M y=e"cos?s safls ;i o e,
i
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iy ¥ = @+ xe¥ maflse .::: E0F hiTEATS.
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April 2019

Time — Thhree hours
IMaximum Marks: 75)

(N.B:- {1) Answer ang FIVE guestions in each of PART-A B PART-B and ony twe
divisions of each question in PART-L

{(7F Each question carrlos 2ftwol marks in PART A, I(three] muarks in PART-B
and S{fivel marks for eoch divisioe in PART-CJ

PART — A
Find x if ¥ %l =g,
i o il |
=] x o L I|lr2 d Y
Find the adjoint matrix of - —l-'wl'

|'F.El =1+ian :'_':3 =34 Eli_. find E.F."l = "131-
Simplify : (eos @ + i5in @)% fcos 30 + (sin 3 23,

d ban 23 Fgan 22’
Snow thot ——— s =
Y na

Find the value of 25in015 cos 15
Find & ifyv=—e¥cosx
dr )

Form the differentiol equation by eliminating the constant 'a’ in
2t byt =gt

PART - B

Fa= j -Ez} and & = (3 2’) show that (AB)T = 5TAT.

. cas38-isinl0
Simplify: (S, e

i 0 L
Find sl the values of (107,
I* cosfl = El' . finc the value of cos 36,

Prowe that cos80° + cos 40" — cos 20 =

) oo =3 fid fda
=% 4+ 9% 4 28802 4 30y find Y and 2
i dy
e dy . b
Ei iy = pfim T
na o ¥ =g

¥ iy . .
Find = if 3 = x¥e*sinx,
T
[Turn over. .
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Hiftp anuganh

PART - C
- Gy @ ) vEmd-a oope VEdon, S gackmng oeEliehecs erEsmo
7. {a} Using cromer's rule, solve the given equotions x+ ¥z =3, Gfbsl SEERTEEERMELT, N0 UGS —E-Ce ek elireiaTe
2y — prz="2and 3x+3y =3 srBsanin FE Cflamerdos oie usfesan,
5 A (2) geuboimm  slairsin Ln;ﬁél—g—-zf!u'f 2 () LG LismT T,
I i s i : ? 5 1 : ugdlg-aien 3 {ape) CHLCUE g s -1
(2] Find therank ot the matrix |0 1 2 :J pebans SAaih 5 lene) wal e car Slayi]
1 =1 2 4 ;
. 3 b 1 11 UI:_"_‘,IfJ;I — =
ict  Find the coefficient of x* In the expansion of b= ;;I
- i |JIE 4| = [ amerflst X —milE Sirsan .
F.. X
18. ja! FPFrove that the complex numbers 220 B44i 5+70 and 2, £ = j'—EI'JT Bomly oyemtl Smaani,
—1 | farm a rectangle. \3 =5
{oas 30-isin 30 74 cus &6 - i sin 487 3, I, =140 F; =320 mafim 32, b A wdllans sraTs.

(5} Using Demaivre’s thearem simplify: e ane | | il .. |
(e} Solve xS —1—=0 4. aimSEs (cosd + (50§ {cos 38 ¢ (sin3 00
c} Solvex®+1=0.

5. Lamn ;-!.'_::'-_.1‘3!1 2z’

e g IR 1 e Y i
1-tan23 tun 23° 1 b Gl

B, Zsinlh cosiS —ar Lo 1m0 il | GOET
. a . 5 , o d 171 inlh ¢ ;
1 r =Gk 3 . et
bl = — 51 —=—nprove thet sinlA+8) = —
19. ol MFsind=_andsinB = p ¥, Y

. : ;
7 y=efrosx el J-"—H:;.'_a T TEOTT .
L sieEdA ; . dix
[t‘l] Frowve thot m = 5ind. _. ) ) )
S 8 xr4y?—o* @i oster  Samewrr  wwdlel Co—s Gepgeigar pgee
Ich  Prove thot sin 207 sin 40 sin @l = = AEmoCmpE s S SS.
Lagheh— <3
{ TPy 1 s 21 — ¥ ) = Z5inx, 2 P B ; e . .
200 ol Prove thot sim™ 2e01 — ¥ £5iM X 9. A= |:~f —QEJ B= I\"" LH' aafss (A8Y = BYAT qemE eml(his.
oy y LI et 7! iR
b Evallmien, S o . coszd-isinag
: Z 10. ol e i+ vin 26

: L gt T I T
¢} Find *I"f it [:l_}r=lx+—+$-|-ﬁ Gi) v = ze¥ lapx, " | |
- o 11, (1) ‘- simamEs DS SmanLL STETE.

17 fosH = sieatle, cos 38 —am Sl isnUs KT,

21, {4l Find 23 (i) 3 = e™oosty U]l y =0 & xe¥ . . )
ax =3, posB0 +cosd) - cos 20 =0 mar Eemll

Bl fxw = ae* + be ¥, prave that xy, + 2y, = 0
Ll = = i = K ':"I‘I .-"I 1 O e ) . . nodu a s
14, u=x%+y"+2x°y" 4 327y arailen, oy TRE S,
1yl 3 d
€l fw =Y, showsthat x= +;.fﬂ—" = 3u . ity
P ix ¥ 15. ¥ =™ % mrafl, E—EL—E ERITENDI L

i.x .o ; .
16, ¥ =x‘e¥unxy ey, ﬁ—ﬂﬁ Eailan &,
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